alphal3_4eX1X:cyclenum {run == 8306}

NG
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01120.8112111121.5

cyclenum

delta46_12X4eY:cyclenum {run == 8306}
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cyclenum
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o
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3307.5

8307
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alpha46_4eY4aY:cyclenum {run == 8306}

111201120.8 |% 1121.8 ; '%1?1 122 EI! ’gRH?’% 5’”%4

cyclenum

run:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum
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deltal3_12X4eX:cyclenum {run == 8306}

[ATIRERRE FRATE ARRTI AURR1 CRRTE FART] RRARL ARATY AT
111201120.511211121.511221122.511281123.51124
cyclenum

segment:cyclenum {run == 8306}
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111201120.511211121.511221122.511281123.51124
cyclenum




USI_1A

usi_4ey

usl_1X:cyclenum {run == 8306}

05

AR FEEN I FRANE FERRE FRA N AN R FRANE FRNNE FRRN AN
111201120.811211121.811221122.511281123.51124

cyclenum

usl_4eY:cyclenum {run == 8306}
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T
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111201120.811211121.811221122.511281123.51124

cyclenum

usl_say

usl_12x

usl_4aY:cyclenum {run == 8306}
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111201120.511211121.811221122.511281123.51124
cyclenum

usl_12X:cyclenum {run == 8306}
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T
H
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111201120.511211121.511221122.511281123.51124
cyclenum

usl_sex
=
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8308

3307.5

8307

3306.5
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8305

3304.5

8304

usl_4eX:cyclenum {run == 8306}

[ATIRETRE FRATE AR AUTR1 CRTTE FART] RRARL ARATY AT
111201120.511211121.511221122.511281123.51124
cyclenum

run:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum




USI_L1A

usI_aey

0.5

=
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usr_1X:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum

usr_4eY:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum

usr_say

usr_12x

[
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usr_4aY:cyclenum {run == 8306}

111201120.511211121.811221122.511281123.51124
cyclenum

usr_12X:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum

usr_aex
=

05

usr_4eX:cyclenum {run == 8306}

8308

3307.5

8307

3306.5

8306

3305.5

8305

3304.5

8304

111201120.511211121.511221122.511281123.51124
cyclenum

run:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum
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usl_coill:cyclenum {run == 8306}

1 01120.8112111121.5 21122.5: B81123.5: 4
cyclenum
usl_caoil6:cyclenum {run == 8306}
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cyclenum
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usl_coil3:cyclenum {run == 8306}

0 111201120.8112m121.5 : '%1?1 122 EI! ’gRH?’% 5’Hg4

cyclenum

usl_coil7:cyclenum {run == 8306}

0 111201120.8112M121.5 ; '%1?1 122511281123 5’”%4

cyclenum

usl_coil4:cyclenum {run == 8306}
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cyclenum
run:cyclenum {run == 8306}
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cyclenum
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usr_coill:cyclenum {run == 8306}
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cyclenum

usr_coil6:cyclenum {run == 8306}
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cyclenum
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usr_coil3:cyclenum {run == 8306}
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cyclenum

usr_coil7:cyclenum {run == 8306}

0 111201120.81121M121 4;'%?1177 $11281123 5#’%4

cyclenum
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usr_coil4:cyclenum {run == 8306}

0 JJJJJJJJJJJJ1Hg;JJJJJJ##%JJJJJJJ#%%JJJJJJJ#*%¢L
111201120.5 1121.83 21122.5: B1123.5: 4

cyclenum

run:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum
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1X_coill:cyclenum {run == 8306}
ARk

111201120.511211121.511221122.511281123.51124
cyclenum

4eX_coill:cyclenum {run == 8306}
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cyclenum
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1X_coil3:cyclenum {run == 8306}

0 111201120.8112m121.5 : '%1?1 122 EI! ’gRH?’% 5’Hg4

cyclenum

4eX_coil3:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum

1X_coil7

4eX_coil7
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1X_coil7:cyclenum {run == 8306}
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111201120.811211121.5 21122.511281123.5: 4

cyclenum

4eX_coil7:cyclenum {run == 8306}

o_uJJ.lu_lJ.ou.u_uJ.lu_Hg_luJ.u_uJ.ou.u%J_L
111201120.811211121.8 21122.511281123.5: 4

cyclenum



yclenum {run == 8306}

4aY_coil7:c

yclenum {run == 8306}

4aY_coilé:c

yclenum {run == 8306}

4aY_coild:c
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cyclenum
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yclenum {run == 8306}

4eY_coil7:c

yclenum {run == 8306}

4eY_coilé:c

yclenum {run == 8306}

4eY_coild:c
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cyclenum
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12X_coill:cyclenum {run == 8306}
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cyclenum

== 8306}
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cyclenum

12X_coil3:cyclenum {run == 8306}
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cyclenum

12X_coil7:cyclenum {run == 8306}
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cyclenum

o
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12X_coil4:cyclenum {run == 8306}

i L N | 1110 113710
111201120.511211121.511221122.511281123.51124
cyclenum

run:cyclenum {run == 8306}

111201120.511211121.511221122.511281123.51124
cyclenum
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